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Question: 1

DRAG DROP
Drag and drop the StackWise states from the left onto the correct descriptions on the right.

Answer:
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Question: 2

Which two VLAN ranges can you add. modify or delete on a switch'? (Choose two)

A. 1 through 1001
B. 1006 through 4094
C. 1005 through 4094
D. 2 through 1001
E. 2 through 4094

Answer: BD

Question: 3

Which Cisco technology provides network redundancy by combining two physically separate
switches to a single logical switch'?

A.VSS
B. IPPS
C. PAGP
D. LACP

Answer: A

Question: 4

Which two commands configure RSPAN to capture incoming and outgoing traffic on a single
interface? (Choose two)

A. monitor session 1 source interface gigabitethernetl/0/2 tx

B. monitor session 1 destination remote vlan 910

C. monitor session 1 source interface gigabitethernetl/0/1 rx

D. monitor session 1 destination interface gigabitethernetl/0/2 rx
E. monitor session 1 source interface gigabitethernet1/0/2 both

Answer: BE

Question: 5

Which feature is enabled automatically when you configure HSRP on an interface?

A. ICMP redirect messages
B. HSRP tracking

C. IGMP snooping

D. HSRP preemption
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Answer: A

Question: 6

Which command do you enter to troubleshoot a misconfigured EtherChannel?

A. CORE-SW(config)#spanning-tree etherchannel guard misconfig.
B. CORE-SW/(config-if)#spanning-tree guard root

C. CORE-SW(config-if)#spanning-tree loopguard default

D. CORE-SW(config-if)#spanning-tree etherchannel guard misconfig

Answer: A

Question: 7

Which statement about configuring an RSPAN session is true?

A. RSPAN supports, by default, the monitoring of Layer 2 switch protocols.
B. The same RSPAN VLAN is used for a RSPAN session on all the switches.
C. Only the source switch in a session must support RSPAN

D. At least one access port must be configured in the RSPAN VLAN

Answer: B

Question: 8

Which command maximizes system resources for ACLs?

A. sdm prefer default
B. sdm prefer routing
C. sdm prefer access
D. sdm prefer vlan

Answer: C

Question: 9

Which option is a benefit of configuring UDLD on a link between two switches?

A. UDLD removes switching loops.

B. UDLD helps prevent switching loops

C. UDLD provides a backup mechanism for fiber.
D. UDLD determines the best switching path

Answer: B
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Question: 10

Which two tasks must you perform to configure DHCP snooping on a device? (choose two)

A. Enable DHCP snooping on the VLAN

B. Enable VRF support for the DHCP relay agent
C. Enable DHCP snooping globally

D. Enable DHCP packet validation on the device.
E. Enable DHCP option 82.

Answer: AC
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